®12. vy FBERED 1 BERE(ERK 24 £E BRI OHE)

Bf#I:Bg/AH
EBERTR TETH FEHE S Cs-134* Cs-137* ST Ccs™ K-40*
duiEE FLIR A <0.018 <0.029 0.023 7.140.19
dbiEE FLIRT A <0.013 0.03220.0071 0.038 40.340.31
JtiEE FLIET BA £0.024 0.028--0.0084 0.041 27.2+0.35
dbigE AL 9 £0.014 <0.014 0.014 27.8+0.33
deiEsE FLIETH PR 0.022-+0.007 <0.030 0.037 24.310.28
dbiEE FLiRM %R <0.028 0.0410.0094 0.055 35.0+0.43
EFR R RA <0.036 0.079£0.0132 0.097 43.30.55
EFE EEH KA 0.133::0.0138 | 0.282::0.0163 0.415 37.6+0.46
EFR BT RA 0.141+0.012 0.2760.0165 0.417 83.720.58
=R iEm mA 0.1820.0138 | 0.258+0.0125 0.439 46.7-+0.58
EEE WWEmM A 0.034=0.0087 | 0.055+0.0107 0.089 27.8--0.38
HEEE W& BRA 0.029-+0.0073 | 0.057-0.0102 0.086 33.5::0.36
HEHEE "=t R 0.025+0.0077 | 0.127--0.0092 0.152 49.0+0.54
EHEE e R <0.013 0.026+0.0066 0.033 20.240.31
iR =yl U5 0.055+0.0104 <0.042 0.076 21.1+0.36
ZHE KEM BRA 0.097+00122 | 0.180%0.0099 0.277 57.70.59
KRR KEM A 0.029--0.0083 <0.038 0.048 31.9+0.34
ZHE +iEm R 0.064=+00118 | 0.1360.0131 0.200 491055
IR OB B <0.019 0.060=0.0098 0.069 30.4--0.43
ZHE Uizb i %R 0.091+00184 | 0.208+0.0204 0.300 58.6+0.82
BER SWVFET ARA <0.043 0.0840.0146 0.106 62.3+0.58
BER L= FEm ARA <0.018 <0.030 0.024 15.8+0.24
BER SLVEM BA 0.033+0.0076 <0.036 0.051 24.4+0.30
BER SWVEFES BA 0.0560.0120 | 0.11220.0144 0.168 61.2+0.54
BER SWNVESF MR 0.123+0.0123 | 0.273:0.0129 0.396 64.5+0.56
BEE SLVEM %R 0.023:0.0063 | 0.063:20.0068 0.086 29.6+0.27
BER SWVFES R <0.031 <0.030 0.030 28.1+0.43
B HEHAEX A 0.076:0.0205 | 0.12320.0227 0.199 91.8-+1.06
BRAD HEHAR BA 0.080+0.0162 | 0.200%0.0173 0.280 61.3%0.75
B HESEX A 0.052:20.0087 | 0.082:40.0143 0.134 49.3+0.49
Bt =S SR 0.116£0.0247 | 0.1560.0283 0.272 25.5+0.73
Eg SR R 0.47100121 | 0.880+0.0143 1.351 33.0:£0.32
B BERX B <0.037 <0.036 0.037 30.9+0.48
HEIR 2 1iil A 0.070#+0.0152 | 0.104=-0.0206 0.174 53.10.63
HMENE | pE_EE A 0.038+0.0125 <0.052 0.064 38.7+0.53
#HENE | hERAREET A 0.084+0.0158 <0.062 0.115 35.54:0.60
ABRAF NG A 0.072+00136 | 0.145-4-0.0131 0.217 46.2+0.46
KBRAF AR A 0.062:0.0191 <0.071 0.097 55.3::0.74
KERAF KB BA <0.042 0.1200.0091 0.141 53.24+0.58
KB RF I=2sskiil %R <0.029 0.018+0.0048 0.033 39.0+0.42
RERAF Iyl R <0.021 <0.016 0.019 18.9%0.28
KB AF MEM %R <0.041 <0.041 0.041 55.6+0.59
=EE =¥kl A <0.020 0.08040.0248 0.090 97.6%1.05
=R [ A <0.022 0.03540.0074 0.046 76.6+0.59
SR [Spinn A 0.103+0.0152 | 0.240::0.0143 0.344 55.50.64

* 1 BEIES 0 TREL . L. o R EREICHSIRIETH S,

*k 19Cs & Cs DEEHE, '"Cs Ffzld Cs ARHBRELUTDHRE TR ETLDREEZ 0 LT B PITHRH

RAMED 2 50 1 HEAFETHLDELTHEHLE.
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= 13, [EESMICHART ITEREDRE (TR 26 £E BER)

BifI: (Bv

EBE TR LiLIES) FERHED Cs—134* Cs—137* st tE cs™ K-40*
=EEE HEM A <0.350 0.4110.087 0.586 109+1.4
mEE WHE™ A 0.6760.062 1.705+0.069 2.381 15015
EEE HET A 0.417+0.074 1.14740.058 1.564 147412
=5E HET 5] 0.135£0.023 0.436+0.026 0.571 264+3.0
EER HEM iR <0.075 0.088+0.020 0.125 162+1.4
mER HEM R 0.220=0.056 0.6450.046 0.865 68155
EEE FEET A 0.224+0.064 0.583-0.046 0.807 104+1.0
=EE mEEm A 1.50240.105 3.599+0.092 5.100 23017
BEER BLE RA 0.618=0.065 1.2010.059 1818 171+15
EER MEET R 0.1780.037 0.3450.040 0.523 304+3.0
EER ST %R 0.277+0.038 0.734+0.031 1.011 19124
wmEE EHEET R 0.335+0.035 0.810:+0.038 1.145 22531
EEE FEH A <0.375 0.634+0.077 0.822 119+16
BEEE FE A 0.099+0.022 0.503+0.021 0.602 26911
EER FE A 1.467+0.088 3.833+0.087 5.300 199+1.5
EEE RET =] 0.196+0.027 0.650+0.024 0.846 302+1.6
BEER {RET R 0.2810.032 0.699:0.037 0.980 449+26
EEBE RET g 0.4770.037 1.330%0.036 1.807 190+2.9
EBE AL A 0.4810.066 0.9520.047 1.433 95+1.1
EEE Y A <0.283 0.3784+0.041 0.520 125+1.3
EEE LT A 0.2790.049 0.552+0.038 0.831 99+10
wmEE Rl R <0.183 0.222+0.025 0.314 39641
BER BRIl R 0.201+0.043 0.339+0.025 0.540 292433
EEE L IR 0.140+0.029 0.329+0.023 0.469 278+3.0
EEE BEf A <0.189 0.201:0.045 0.295 11£1.1
EBER BEm A 0.474+0.064 0.605=0.036 1.079 65+0.8
EEE mEM A <0.534 0.473+0.147 0.740 14819
EEE wEm 8 <0.124 0.214+0.023 0.276 328+3.6
RER L= Tl R <0.116 0.2160.020 0.274 168+2.4
EBE =i MR <0.227 <0.143 0.185 246+3.4
EEE KRBT A <0.262 0.391--0.038 0.522 140+1.3
EBE SEBEWH A 0.836+0.085 1.8720.065 2.708 159+1.4
BEER SEEWH A <0.133 0.181+0.032 0.248 10006
EEE SEFNT R <0.154 0.3140.024 0.391 298+3.2
EER SEENT R 0.263+0.037 0.794+0.033 1.057 278+3.2
EER | EEFENH R <0.079 <0.090 0.085 263+2.0

* HEREYREE o TREL. 2L, o FEHEERECHESRIETH S,

#k 1%Cs & VICs MEFHE, Cs Ffz(E ¥'Cs MRHBFELUTOHEEEXENETNDREE 0 T, SR RISHRE

RFED 2 50 1 HANFETHLDELTHEHL,
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& 14, RESAMICHE T HTERENRE (T 26 FE BERLUSNDHIE)

B47: s
EBE IR TTETAT EHRED Cs—134* Cs-137* attE Cs™ K-40*
duiEE AL A <0.135 0.254+0.048 0.321 45406
deisE LIRS A <0.189 0.218+0.039 0.313 100+1.0
dbiEE LR A <0.163 <0.151 0.157 72408
dbimE FLIRTH MR <0.145 0.1000.024 0.173 244429
duiEE FLIRH U] <0.195 0.180+0.028 0.277 461+43
duiEE FLIRT =] <0.190 <0.090 0.140 379+40
EFE B A <0.309 0.475+0.042 0.630 14514
BEFR B A 0.2310.076 0.5910.051 0.823 148--1.3
EFE B A <0.224 <0.109 0.167 10111
B e A <0.314 0.362+0.038 0519 14114
HiHE i BA 0.269-+0.072 0.369+0.034 0.638 8110
EHE s A <0.226 0.120+£0.025 0.233 80%0.9
BEHR =g B <0.175 0.220+0.030 0.307 359+4.0
EiHE il s R <0.170 0.18740.023 0.272 359:3.8
BB il s g <0.089 0.1640.023 0.208 19123
TR i A 0.124-0.038 0.684--0.032 0.808 148£0.6
TR Of=b7iah mA 0.159+0.072 0.614+0.063 0.773 100409
TR KE™ BA <0.241 0.346-0.062 0.467 152412
RYE KFEH B 0.0920.019 0.350+£0.017 0.442 36714
B3 TR ET iR 0.4230.074 0.8140.071 1.237 453+45
BER SNV FET BA <0.198 0.345+0.042 0.444 7809
BER SW=Fm A <0.167 0.2040.040 0.288 85+08
BER SWVFET mA 0.202:0.052 0.3840.041 0.586 99038
BER SV FET B <0.108 0.2000.023 0.254 190+2.3
BER SW=FmW R 0.1250.033 0.4020.029 0.527 377+25
BEER SV ET IR <0.107 0.2340.030 0.288 236+2.4
BRI HESX A 0.522+0.045 1.373+0.039 1.895 165+0.8
BRED HHAX BA <0213 0.205+0.055 0.312 157=+1.1
AR HEAX A <0.165 0.388+0.045 0.470 148+1.1
R BERX MR <0.083 0.1370.028 0.179 29422
R TR R <0.341 <0.198 0.270 20846
HRAD WIEX IR <0.072 0.106:20.290 0.142 123+1.5
HWEJIR FIEH A 0.319:40.078 0.789:+0.058 1.107 188+1.4
wWE)IR —=Er A <0.245 0.4180.052 0.540 15814
HE)IR KHBEET BA <0.207 0.246+0.052 0.349 136+1.1
PN N A <0.284 0.221:£0.034 0.363 15114
KB AF KB T A <0.286 0.3132:0.060 0.456 252+18
RERFF KR A 0.4590.079 0.8900.060 1.349 16714
N Eh "R <0.107 0.1170.023 0.170 321429
KB AF = 7 <0.157 <0.102 0.129 96+2.1
KBRFF WA R <0.150 <0.069 0.109 274432
=y =ik A <0.331 0.380:0.106 0.546 278421
EER =¥ A <0.328 <0.173 0.250 21018
BEnE =Y3h BA £0.356 <0.156 0.256 177+16

* FREEERMRE £ 0 TREEL, L. o FEEREICHEIHETH S,

*x 14Cs & 'Cs MEFHE, 'Cs FfzlE W'Cs AMRHBRFEL T DB ERFZENENDREET 0 LT BB FPIZRY
RAMED 2 57D 1 HEAFETHLDELTERLE,

-43-




& 15 FRESHICHRILIAAEMRE(FA 2 FE EER)

B Bv
MERFER TETA FHEX L Cs—134* Cs-137* AT Cs™ K-40*

EEE WHEM A <0.319 0.451+0.044 0.611 146+1.4
BER BT A 1.813+0.122 2.937+0.086 4750 219+1.9
BEE HEN A 1.143+0.090 1.930+0.063 3.072 15714
EER HEN 4R <0.131 0.20240.021 0.267 269+3.0
EER HEM YR <0.135 0.170%0.020 0.238 302+3.3
BmER HEM MR <0.132 0.159+0.018 0.225 244427
EEE ST A 46420118 7.268+0.098 11.910 90£1.0
BEER mEEm A 2.866+0.113 3.93240.084 6.798 13813
EER FEHET A 0.550%0.091 0.838--0.049 1.388 122+1.3
BER FMHET R 0.115+0.034 0.154+0.017 0.269 138+2.0
BER EEET R 0.448-:0.037 0.721-+0.028 1.169 23026
mEE FHEET R 0.235+0.029 0.454+0.025 0.689 172425
EER REM A <0.193 0.2080.029 0.304 67+0.8
BER fREm BA 0.4510.063 0.847+0.047 1.298 147+1.4
EER FEM A 0.358+0.054 0.692+0.040 1.049 85+1.0
EER REM U5l 27.470£0.238 | 46.256=:0.224 73.726 46743
BEER fRE R 0.369=0.041 0.629+0.031 0.998 412+39
BmEE {FET R 0.7710.050 1.269+0.039 2.040 307433
BEEE Bl A 1.365+0.076 1.951+0.062 3.316 125%1.1
BER Bl A 0.3760.067 0.771£0.052 1.147 107+1.1
BER A A 0.929+0.062 1.534+0.051 2463 83--0.8
EER L MR <0.127 0.142+0.028 0.205 227+2.7
BER ER LT " 0.627+0.040 1.008+0.035 1.634 239+2.6
BmEE i R <0.115 0.088+0.027 0.145 202425
=EEE BaEm A <0.207 0.176+0.044 0.279 83+0.9
BEE BEM A <0.351 0.369+0.070 0.544 148=+1.6
BEEE wEm A 0.226+0.054 0.244+0.037 0.470 73+0.8
BEEE wBEMm R <0.122 0.299+0.028 0.361 239+2.6
BmEE w=em R <0.132 0.099+0.028 0.165 243+2.7
BEEE SREWNT A 0.182+0.053 0.423+0.039 0.605 90+0.9
EER LEENT A 0.850+0.068 1.307£0.070 2.157 87+09
BEER LEENT A 0.252+0.073 0.390+£0.077 0.642 137£1.2
BEE SR R 0.262+0.038 0.560:0.031 0.822 284+29
BER KRBT R 0.314:+0.040 0.467+0.031 0.781 245427
EER SEEWT R 0.399+0.033 0.593+0.028 0.991 302+3.0

* FEFEEMREL 0 TREL=. F=FZL. o FEHERECHIRETHS,

*k 1%Cs & VCs MEFHE, 'Cs FfzIF Cs SMRHBRELUT DB EFETNENDREE 0 LT, B hIcRE
RAMED 2 70 1 BEANFETHLDELTHERLE,
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& 16. BZREEMICHRT HTERRMRE (T 25 FE BERLUSNSDHIE)

BAGL: By
EBERTR ATBT AT FEHEN Cs—134* Cs-137* sttt cs™ K-40*
dbiEE FLIRT™ A <0.172 0.264+0.026 0.349 39-£06
dbiEE T A 0.225+0.070 0.249:+0.029 0.474 69-:0.9
dbisE LR A <0.180 <0.090 0.135 7709
dtiEE FLIRT R <0.127 0.098+0.016 0.161 217+2.6
dbiEE KL " <0.114 0.0730.021 0.130 20525
duiEE AL R <0.108 <0.058 0.083 20125
EFR B [E T [EPN 0.36340.072 0.853+0.048 1.216 165+15
EFR REEH KA 0.378-+0.071 0.484--0.043 0.862 17415
EFE RE T A <0.274 0.3904-0.037 0.527 11712
EiHE =gt A 0.750+0.073 1.0820.049 1.832 135+1.3
EiHE & A 0.734-0.064 1.058+0.042 1.792 106+1.0
R & A 0.333+0.048 0.4160.027 0.749 5107
=R =il R 0.1570.045 0.292+0.023 0.449 27031
EiHE IESSss) %R <0.098 0.111+0.014 0.160 10117
EE W& bl <0.164 0.290+0.025 0.372 378+3.7
RIIE KET BRA 0.297+0.067 0.5670.044 0.865 148=+1.1
ZTHE KETH A 0.541+0.074 0.6370.078 1.177 121412
IR KET KA 043140083 0.598=+0.060 1.029 18015
KRR [03==Y~¥:) PR <0.159 0.243:0.055 0.323 523+4.3
TR [0Y ==Y~ 9:) SIS 0.203£0.044 0.366+0.033 0.570 358+3.3
TR b1 MR 0.221:0.031 0.359--0.024 0.580 203=%2.5
BEE SW=Fm A <0.245 0.270-£0.034 0.392 93411
BER SW=FEm A 0.257-+0.052 0.56940.034 0.826 7909
BER SWV-FE A 0.370+0.072 0.585-0.043 0.955 16014
BEER SUV-FEM R 0.263=20.039 0.4530.028 0.716 342+3.6
BER SWVEM R 0.222+0.039 0.305+0.023 0.526 27131
BER SWVER R 0.227::0.040 0.445-+0.030 0.672 43341
RRER HEAX A 0.6800.087 0.747+0.063 1.427 146+1.3
Bt HEAX A <0.186 0.381+0.044 0.473 14712
HIRED HEAX A 0.322+0.076 0.486+0.054 0.808 163£1.3
AR ERILHES bl <0.119 0.285+0.030 0.345 273+2.9
BRAED RIBX MR 0.20%0.053 0.1420.021 0.342 3093.2
HIEM HERX R <0.107 0.171+0.038 0.224 20625
HEE FiFEm A <0.221 0.354=0.053 0.464 187+1.4
HMENE | hE_=HE 5PN 0.367=0.070 0.471+0.053 0.838 139+1.2
HEIR | FERKHET A 0.355+0.050 05720041 0927 14213
KR AF NI AA <0.211 0.3530.046 0.459 15012
KB KR A 0.503+0.094 0.9030.070 1.406 237417
KBRAF KB T A <0.229 0.363+0.080 0.477 136+1.2
PN =k R <0.106 0.123:+0.026 0.176 195+24
KB AF =Yn R <0.097 <0.063 0.080 8716
N BAT iR <0.132 <0.084 0.108 316+3.2
SR ST A <0.328 <0.198 0.263 159%1.6
SR =¥l A 0.2380.062 0.428+0.043 0.666 151412
EHE =T (5PN 0.526+0.069 0.768+0.072 1.294 119=+1.1

* 1 BIERE+ o TRELI, F=FZL. o [FEEBRECHIHRETHS.

*x 1%C0s & Cs MEFHE, 'Cs £=IE Cs ARHBFEL FOBEEIZTNENDREE 0 LT, BB AT
RFEBD 2 50 1 HANFETHLDELTHEBL .
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& 17. [EREEMICHAR T HTEIEMRE (T 24 £E E=ER)

BfT: By
& T IR ATET 4 FHX 5o Cs—134* Cs-137* TEHE Cs™ K-40*

BER HEN mA <0.224 0.379-+0.099 0.49 69+28
EER HET RA 0.302+0.077 <0.219 0.41 8233
EER HEM R 2.985+0.102 4471£0.134 7.46 443+32
BER HET %R 0.3150.050 0.4940.041 0.81 350424
EER HEN R 0.476+0.043 0.476+0.053 0.95 192+15
=EER EHET A 0.671£0.098 0.714%0.104 1.38 44429
BER EHEET A 1.148£0.270 1.74940.300 2.90 358+136
BER EHEET A 0.75940.102 1.092+0.108 1.85 125443
BER mRET %R <0.093 0.236+0.045 0.28 249+16
=R EHET MR 0.501+0.017 0.536:0.035 1.04 9107
EER EHEET MR <0.118 <0.110 0.11 88+13
EER fRET A <0.095 0.177+0.052 022 72+23
RBER FEN RA 0.336:0.069 0.2540.072 0.59 63+28
RER FHE BA 2.647+0.188 3.316+0.216 5.96 125+6.2
BEEE FEN mA 2.465+0.078 3.158--0.095 5.62 11027
BEE FEN IR 0.5430.052 0.620+0.064 1.16 205+2.6
BEER RER IR 0.2130.041 0.2670.027 0.48 18115
BEER RET 4R 0.2140.042 0.2690.056 0.48 135+15
=EER FEM 8 <0.079 0.106+0.017 0.15 128+1.0
BEER il RA 0.6690.081 0.701+0.082 1.37 96+3.1
BER Bl A <0.360 <0.322 0.34 50+3.8
BEER i A 0.57120.060 0.638+0.057 1.21 92432
RER EBLLh [I5) 0.386+0.043 0.409+0.055 0.79 124+1.4
mER BBl R 0.137£0.035 0.230£0.049 0.37 155+1.3
=ER BT o] 0.1600.040 0.205+0.031 0.36 223+18
=EE BEm mA 2.2620.145 3.037+0.179 5.30 120£5.3
=EE Bem A 0.238+0.042 0.164+0.062 0.40 3315
=EE BmET BA <0.147 <0.138 0.14 103+3.8
EEE BB P <0.105 <0.094 0.10 130+1.3
BER =Tl R 0.630-0.045 0.924-0.052 1.55 154%1.3
EEE BEM R 0.2970.049 0.598+0.052 0.89 185417
EER SREWT A <0.253 0.335+0.092 0.46 83+37
BER REERT BA 0.280+0.079 0.3860.101 0.67 88439
RBRER SRENT A 0.7360.095 1.039£0.102 1.78 134+3.7
RBRER KEEWT R <0.119 0.2070.049 0.27 28020
BER KEEWT R <0.094 0.106+0.038 0.15 203417
RER KIEENT byps 0.206:0.033 0.262:0.044 047 14512

* FEREDREL o TREL 2L, OFEHEBREICHEIRIETHS.

*k 1MCs & 'VCs DEFHE, "Cs Ff=[F ¥'Cs NMRHRFEUTDERBZENENDREEL 0 LT, HMBITHRY
RAED 2 5D 1 HANFETHLDELTERLE,
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18 EEFAMICHRT OHARMRE (TR 24 FE 1

SR LU D)

Bifif: (B
HERR T4 FEX S Cs—134* Cs—137* M5t tE Cs™ K-40*
JbiEE FLIR A <0.126 <0.136 0.13 16+£1.3
dbiEE FLIR T A <0.090 0.1510.049 0.20 9121
deiEE FLIET KA <0.170 0.134:0.058 0.22 62:+24
dbiEE FLIRT R <0.064 £0.048 0.056 213%16
deiEE FLIRH R 0.105+0.033 <0.105 0.16 186+1.3
dbiEE FLIRT™ %R <0.132 0.143+0.045 0.21 268+2.1
EFE BT RA <0.250 0.376+0.092 0.50 984338
EFER T A 0.922-+0.096 1.340£0.113 2.26 85+3.2
EFE BT KA 0.978+0.083 1.30940.114 2.29 189+4.0
= =kl BRA 1.260+0.096 1.222+0.087 248 106+4.0
EHE =Xl BRA 0.2340.061 0.262+0.074 0.50 6327
BiHE = A 0.199+0.051 0.270+0.071 0.47 7625
=R e R 0.11920.036 0.444=:0.043 0.56 375+26
iR e bl <0.064 0.092+0.031 0.12 15514
EHE =il %R 0.260:0.049 <0.146 0.33 162+1.7
iR KET RA 0.672+0.084 0.855=+0.069 1.53 1314.1
BB KETH A 0.200-+0.058 <0.183 0.29 72424
RWE W %R 0.303+0.056 0.475+0.062 0.78 37726
TR Uf=biah R <0.089 0.210%0.046 0.25 23320
KR (6 ==Yv) R 0.434+0.088 0.730%0.097 1.16 449+3.9
BHEER SWVFED KA <0.297 0.400=:0.101 0.55 141440
BER SWVFET A <0.128 <0.143 0.14 36+1.6
BEER SWVFETR A 0.230£0.053 <0.169 0.31 55+2.1
BER SW=FEmW A 0.389+0.083 0.530:0.100 0.92 139+3.8
BER SWVFER IR 0.583--0.058 0.956+0.061 1.54 49427
BEE SLVET B 0.111+0.030 0.220:0.032 0.33 227+13
BER SWVFER iR <0.146 <0.106 0.13 21621
EgL HHEX A 0.529+0.142 0.584+0.158 1.11 208+7.3
ERL HEHAX BA 0.553+0.113 0.951+0.120 1.50 139+5.2
A HESX BRA 0.362-£0.060 0.390=0.099 0.75 112+34
E XK LIS R 0.552-+0.117 0.545+0.134 1.10 196+3.5
A B R 2.234+0.057 3.083+0.068 5.32 253+15
R BEX YR <0.177 <0.127 0.15 237+23
#HEJIR iR BA 0.4830.105 0.496-+0.143 0.98 12044
HZEJNE | PR EHET RA 0.263+0.087 <0.249 0.39 88+3.7
HEINE | AR A 0.583+0.109 <0.293 0.73 80£4.2
KR AF KB BRA 0.499-+0.094 0.687--0.091 1.19 105+3.2
ABRAF KBR A 0.4280.132 <0.336 0.60 125+5.2
KERAF KB BRA <0.291 0.570+0.063 0.72 12040
KB AF =Xl " <0.136 0.065+0.023 0.13 299+20
KERAF =Xkl R <0.102 <0.055 0.08 145+1.3
ABRAF P& IR <0.195 <0.144 0.17 426=+2.8
SHE =T BRA <0.137 0.380+0.172 0.45 221+7.3
252 [=F i A <0.151 0.166+0.051 0.24 17341
BXR =300 A 0.71720.105 1.1410.099 1.86 12644
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& 19. [ZREFEMEBRD Pud 1| BEME. HEARDRE (TR 26 £E)

BT IR GilIES] F@WES | RE(Ba/ke) 1 BER=E(Ba/A-H) TEFEEMIRE (18v)
BER FEET B <0.000437 <0.000779 <0.071
EER EEET A <0.000518 <0.001236 <0.113
EER FEET A <0.000438 <0.000906 <0.083
E#BR FMEET R <0.000416 <0.000511 <0.062
BEER EHEET ) <0.000665 <0.000475 <0.057
2R mEET R <0.000424 <0.000515 <0.062
EER 1= A <0.000393 <0.000814 <0.074
EER BE™ A <0.000452 <0.000505 <0.046
EER wEm BA <0.000185 <0.000414 <0.038
BEER BE™T R <0.000395 <0.000508 <0.061
EER EEW R <0.000693 <0.000474 <0.057
BER BEH bl <0.000887 <0.000792 <0.095
EFE REREl T BRA <0.000475 <0.000739 <0.067
BEFR R A <0.000439 <0.000977 <0.089
BEFR R RE A <0.000448 <0.000935 <0.085
B L= BA <0.000431 <0.000961 <0.088
iR fllE A <0.000463 <0.000629 <0.057
EHE i=gis A <0.000450 <0.000481 <0.044
iR 1=} R <0.000462 <0.000760 <0.092
EHE Tl R <0.000447 <0.000648 <0.078
EiHR (I=xis] R <0.000729 <0.000494 <0.060
BERHR HEASX A <0.000476 <0.001069 <0.098
B AR HESX A <0.000439 <0.000854 <0.078
BRAR HEASK BA <0.000410 <0.000874 <0.080
BRAR BER L) <0.000234 <0.000357 <0.043
R WRAEX R <0.000347 <0.000570 <0.069
RIEER WER R <0.000246 <0.000328 <0.040
=R ST A <0.000416 <0.001425 <0.130
SR =% ihi A <0.000461 <0.001246 <0.114
EHE =% iG] A <0.000451 <0.001024 <0.093
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3 20. [ZRESAAIEHZED Pud 1 BEERE. FEEREMRE (TR 25 FE)

#NE T I Gil3ES FRHES | RE(Ba/ke) 1 BERE (Ba/A-H) FEFEEMRE (18v)
=EER HEM BRA <0.000469 <0.00109 <0.099
EER HEM A <0.000397 <0.00127 <0.116
EER HET BRA <0.000437 <0.00127 <0.116
EER HEM HR <0.000489 <0.00042 <0.051
EER HET MR <0.000429 <0.00060 <0.072
EER HEN e <0.000423 <0.00068 <0.082
EER BEm A <0.000397 <0.00074 <0.068
EEBR wEm BA <0.000455 <0.00085 <0.078
EER wEm A <0.000472 <0.00051 <0.047
EEE mEm R <0.000458 <0.00040 <0.048
EER wEm R <0.00042 <0.00049 <0.059
EFE RERAT™ A <0.000415 <0.00093 <0.085
EFE RERE) T BA <0.000518 <0.00103 <0.094
B5FR REFE T REA <0.00042 <0.00092 <0.084
EHE i A <0.000491 <0.00101 <0.092
BEHE =) REA <0.000423 <0.00060 <0.055
iR & A <0.000572 <0.00043 <0.039
BEHE (1= YR <0.000294 <0.00044 <0.053
EHER IE=ni R <0.000256 <0.00011 <0.013
EHE llaT 9" <0.000333 <0.00045 <0.054
REH HHAK A <0.000412 <0.00096 <0.088
BRIRAR HHARX [EFN <0.000399 <0.00071 <0.065
R HEAKX A <0.000434 <0.00085 <0.078
RIRAD IR MR <0.000296 <0.00042 <0.051
HRE WiER R <0.000263 <0.00046 <0.055
HIRAR BER 15 <0.00049 <0.00048 <0.058
B IR [=Rih] 79N <0.000439 <0.00109 <0.099
SR BT 5N <0.000423 <0.00090 <0.082
BEHE =T A <0.000408 <0.00078 <0.071
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& 21. BEREEMEBRD *Sr 0 1 BERE. HFEEMNRE (P 26 £F)

BERR Tkt EHES | BEGW | s | PR
BER FMEET A 0.014:£0.004 0.0250.007 0.255:£0.071
EER MEEN A 0.0190.004 0.045+0.010 0.4630.105
'ER mEET BA 0.0190.005 0.039+0.011 0.4020.112
EER MR HR 0.016£0.005 0.020=0.006 0.337:0.108
EER EEEm MR 0.021:£0.005 0.015:£0.003 0.25740.055
EER FHEET MR <0.020 <0.024 <0.417
EBE BEm BA 0.012+0.004 0.025+0.008 0.254+0.085
EER =mEm ARA 0.018+0.005 0.020::0.006 0.205+0.057
EER BEm YR 0.0230.005 0.030£0.006 0.508=0.108
EER 'ET R 0.0220.006 0.0150.004 0.258+0.070
H5FR RERE T A 0.024-+0.005 0.037£0.007 0.381£0.076
BFE RERET A 0.022+0.005 0.0490.010 0.500=0.102
EFR B A 0.024=+0.005 0.050%0.010 0.512+0.105
BiHE il A 0.019+0.005 0.042+0.010 0.43320.105
BEHE =il RA 0.0190.005 0.0260.007 0.26420.071
BEHE {IIF=xi] A <0.020 <0.021 <0.218
BERE =] MR <0.020 <0.033 <0.564
iR L= R 0.017=£0.005 0.025£0.007 0.423+0.117
BERE & R <0.020 <0.014 <0.233
Egt HESX A 0.015::0.005 0.0340.011 0.3440.108
REH HESK A <0.020 <0.039 <0.398
R HAREX A <0.020 <0.043 €0.436
BREAD BWEX MR 0.017£0.004 0.0260.007 0.445+0.115
RIRER RAEX R <0.020 <0.027 <0.458
SR = &N LA <0.020 <0.069 <0.700
SENR BN A 0.0240.005 0.065:£0.013 0.6630.135
EHE =%t A <0.020 <0.045 <0.464
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& 22. [ZRERBEHED “Sr O 1 RIEIE. FHEARMNIRE (AL 25 £E)

TR AT EEH | REGek | UOR | RERPRE
BEER HET RBEA 0.025-£0.005 0.058+0.012 0.5960.126
BEER HED A 0.018+0.005 0.058+0.016 0.591=+0.161
EER HET BRA <0.020 <0.058 <0.592
BEER HET R <0.030 <0.026 <0.445
EER HE™ R <0.020 <0.028 <0.479
BER HET R <0.020 <0.032 <0.555
EER BE™ A 0.014:0.004 0.02620.008 0.2680.080
EER BEW BRA <0.020 <0.037 <0.383
BER BE™ R 0.026 +0.008 0.023+0.007 0.392+0.116
EER BEW R <0.020 <0.023 <0.402
EFR R BA 0.028-£0.005 0.062+0.010 0.638:0.107
BFR R REA 0.013£0.004 0.026-0.008 0.265+0.077
BFR R A 0.015+0.004 0.033:0.009 0.33420.089
EHE e A <0.020 <0.041 <0.421
iR =g BA <0.020 <0.028 <0.290
BEHE 1= A <0.040 <0.030 <0.308
EHE & R <0.020 <0.030 <0.509
EHE LE=Ni] MR <0.080 <0.033 <0573
ERE e MR 0.019+0.006 0.026+0.007 0.440£0.127
RIEAR HESX A <0.020 <0.047 <0.475
RIER HESX A <0.020 <0.035 <0.362
BIRAD HERX A <0.020 <0.039 <0.398
HRIRER I MR <0.020 <0.028 <0.488
RIEER RIER R <0.020 <0.035 <0.607
RRER HERX #HR <0.030 <0.030 <0.506
EER =% A <0.020 <0.050 <0.508
=EIR =TT A <0.020 <0.043 <0.437
B =fibn BRA 0.023:0.006 0.044+0.010 0.4480.107
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% 23. ZEAHBED YSr D 1 BIEERE., FAFEEDRE (E/K 24 £%)

SRR BT EWEH | REGww | DOOE | REERE
=T HEm A <0.020 <0.038 <0.384
EER HET BA 0.016-:0.004 0.027+0.007 0.2710.075
EER HEM YR <0.020 <0.041 0.707
EER HEM R <0.020 <0.030 <0513
EER &M e 0.0150.005 0.020+0.006 0.342+0.103
EFR BRI A 0.015+0.005 0.027+0.009 0.277+0.087
BEFR BRI A <0.020 <0.032 <0.330
BEFE RERE T BA 0.02240.006 0.044£0.012 0.446+0.120
BERE & BA <0.020 <0.040 <0.408
BERE W& A <0.020 <0.034 <0.343
EiE i BA <0.020 <0.027 <0.275
EHE IF=s 'R <0.020 <0.030 <0.522
iR e CHR <0.030 <0.016 <0.283
= i R <0.030 <0.029 <0.493
R HEHSX BA 0.017£0.005 0.046:0.014 0.4720.147
BRIER HEXEX A <0.020 <0.039 <0.402
BEE HEAXK A <0.020 <0.029 <0.297
BRIER SN R <0.020 <0.017 <0.286
BREAR X iR <0.020 <0.019 <0.321
R HERX MR <0.030 <0.026 <0.446
=%l =R in A 0.017:£0.005 0.053+0.015 0.543+0.157
SR =%kl A 0.02240.005 0.048£0.011 0.492+0.114
EHE F=%ik A <0.020 <0.041 <0.420
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= 24. [ERESBEHRED Po D 1 HEENE., FAFEEMESE (ER/R 26 £F)

#HERFR GilIER) FEES | RE(Bake) 1 HER=Z (Ba/A-H) FEFEDRE (18v)
EER FEtEE™ A 0.053+0.006 0.095+0.010 42+43
EER FatEEm A 0.425+0.012 1.014£0.028 444124
BER miEEm A 0.321+0.012 0.664::0.024 291105
EER el byl 0.124+0.008 0.15240.009 244+152
BER mtEmT W% 0.0790.006 0.0560.004 9169
EER BHEET MR 0.117£0.007 0.14240.008 228+13.1
BER BEm A <0.026 <0.054 <24
BEER EBm A 0.057=0.009 0.064+0.010 2846
EER wmEM b4 =] <0.038 <0.049 <79
BER wEm »R 0.0470.015 0.03240.010 5116.4
EFE REME A <0.023 <0.035 <15
EFR RERA A 0.509+0.011 1.134:£0.025 497109
EFE RERE) BEA 0.057+0.007 0.120£0.015 53+6.4
BEHE L1Th=s A 0.766::0.026 1.708:0.058 748254
BEiE LIT=gs) 9N 0.048+0.006 0.065+0.008 28+35
EEE we A 0.5760.035 0.6150.038 269+16.6
=R W&EH R 0.103£0.006 0.170£0.010 272+155
EiEE e R 0.109=0.009 0.157+0.013 253+20.2
=EHE L=} #R <0.026 <0.018 <28
BRIED HEASK BA 0.0570.006 0.12920.015 5664
HEE HEASEX A 0.050=:0.005 0.097:£0.009 4341
HRE HESX BA 0.146+0.010 0.310£0.022 136£9.6
B HERX 8 0.0620.006 0.0942-0.010 151+155
B HERX R 0.075:£0.005 0.1230.009 198+138
BRIRAR wAEX R 0.062+0.009 0.083+0.012 133192
EHE =¥l BA 0.068+£0014 0.232+0.047 10220.6
=yl =yibn [iIN 0.261£0013 0.5920.029 259+126
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= 25. [ZREEEIHED "Po D 1 HIERE., FEFEERE (FE/K 25 £/F)

EERTR Gl F@WHES | BEBa/ke) 1 BiERE (Ba/A-H) FEFEEMRE (18v)
EER HEM A 0.1040.009 0.2430.020 106+9.0
EER HEM 7PN 0.167£0.011 0.538+0.035 236155
EER HEMH A 0.1000.008 0.291%0.025 1274107
EEE HEm L) 0.095:0.004 0.0820.004 132+6.2
EER HEM g 0.1150.005 0.160=:0.007 257108
EER HEM MR 0.1470.008 0.237:0.013 381212
EER EE A 0.116=0.009 0.217+0.018 9578
BER BB A 0.0770.009 0.144:20.017 6376
BER EEm BA 0.129:£0.007 0.1380.007 6033
EER e R 0.110=0.011 0.097+0.010 155£16.2
EEER EETH R 0.1030.011 0.1210.013 194209
HEFR R A 0.113:0.006 0.251:£0.013 110£5.7
BFR RERE T A 0.099+0.005 0.197+0.010 86+4.6
EFE RERE T A 0.259:£0.009 0.5640.020 247 is.é
B =) A 0.246+0.009 0.505+0.019 221483
=R & N 0.1090.008 0.1550.011 6847
R W& A 0.1210.009 0.091=0.006 4028
=i e W& e 0.355+0.015 0.526+0.023 845+36.8
EiRE W& 4R 0.187+0.011 0.0780.004 126£7.2
=gd W& L) 0.099-0.005 0.1340.007 215115
BIRED HAARX RBEA 0.1530.006 0.3560.013 156=:5.9
BEREHD HHEAEEX BA 0.283+0.008 0.5020.014 220=6.3
HIRER HESX BRA 0.222+0.009 0.433+0017 190+7.3
B IR 4R 0.208:0.009 0.295+0.013 474+216
BHRE R R 0.2110.011 0.3730.020 600+32.4
BB HEX bl 0.11340.005 0.1110.005 179:£8.6
=R =S ihi BA 0.209-£0.007 0.520+0.017 228+7.3
=yt =Yk BA 0.171£0.006 0.366:0.013 160=+5.6
=y )] =2k A 0.1030.005 0.196=0.009 8639
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3 26. [EEESHR B HED Po D 1 HIEENME., HRAEMNRE (L 24 £E)

HRE TR HETA RS | BE Bake) 1 BEREZ (Ba/A-H) FRERMRE (1Bv)
EER HEm A 0.1000.004 0.1880.008 82+33
BEER HEW RRA 0.124+0.010 0.206=0.016 90=+7.1
BEER HE™ R 0.131:0.006 0.269::0.012 4334197
BEER HEM =] 0.097:£0.006 0.146::0.009 234+14.8
EER wE™ A 0.0910.004 0.1810.009 79+39
EEER wBEm A 0.1110.009 0.0830.007 3629
BEER 1= T A 0.0940.007 0.137£0010 6044
EER LEI=T) R 0.0780.007 0.099£0.009 1594150
BER wBEH L) 0.177£0.010 0.140=0.008 225+13.3
BER EEW R 0.030=:0.009 0.021:0.006 33100
EFRE RERETH A 0.058+0.003 0.106£0.005 4622
5EFR RERE™ A 0.092£0.004 0.1490.006 6526
5FE RERA T A 0.0690.003 0.136:£0.006 60238
R izt A 0.1650.012 0.328::0.024 144104
B s BRA 0.382:0.009 0.641£0.015 28168
EHR & BA 0.091:0.008 0.122+£0.010 5444
ERE g™ MR 0.0790.006 0.120-0.008 193135
BEHE 1=} R 0.144+0.007 0.1380.006 222104
BRED HEASRXK A 0.0920.005 02510014 11059
AR HESX BA 0.249--0.009 0.4900.017 215+7.4
REHD HEBX BA 0.272+0.009 0.3940.013 173+58
FIRER IR R 0.172+0.013 0.143+0.011 230+18.0
BERAD BIE R 0.1760.010 0.165+0.009 265144
LRt HEX R 0.171£0.012 0.148%0010 238+16.2
SRR =A™ A 0.234+0.009 0.7330.029 321127
SR = ARA 0.220-:0.009 0.481:£0.020 21189
SHE SHETH BA 0.408+0.015 0.8370.030 367133
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